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MUST DO BEFORE STARTING EXAM

‘NAME (Please, PRINT): 2 7 —— (Put ID on your desk)

L THE COLOR OF THE EXAM ON THE TOP OF THE SCANTRON, IN NUMBER 2 PENCIL.
E YOUR NAME ON ALL SIDES OF THE CHEAT SHEET, TOP RIGHT HAND CORNER.

‘Material covered is up to last day of lecture before the exam.

ast let the professor know that do not have one before the exam and sit

T3
s o

ut the whole time that you are in the room, from the
room.

You may not use your phone or any other electronic
2d. No exceptions.
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ons will be marked in scantron AND the exam. Work will not be read.

for multiple choice questi will result in point deduction from the exam grade.

to mark your name, ID or some answers ; :
the second time you do a test. So no more grace period on this.

‘ m together with the cheat sheet will be inserted inside the exam before you turn in the exam.
M students must sit in a seat for left-handed students. The professor will tell students where

t show your individual work. Talking to others during the midterm, not adhering to

information or breaking any other aspect of the student code of conduct at UCLA

1 and will be referred to the Dean of Students office. You can not exchange papers

our things must be on the floor. You may not use the empty seats next to you to put
down. Honor code applies.

formulas and definitions, no solved problems, no examples of any kind, no

les, no intermediate steps and no drawings or graphs of any kind. YOUR

SHEET AT ALL TIMES. Be ready to show your cheat sheet when the

t sheet must be written all in English. Cheat sheets that do not comply

. You may have four Pages, i.e., two sides of two 11 by 8 sheet,

t sheet, you must tell the professor at the beginning of the exam

allowed to have on the exam will be attached to the exam.

Wait until you are out of the room.
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: QUESTIONS. ONLY ONE ANSWER IS CORRECT. CHOICE MUST BE MARKED
ALSO HERE ON THE EXAM. ONLY THE SCANTRON WILL BE GRADED.
RON OR MORE THAN ONE MARK WILL RESULT IN 0 POINTS FOR THE

XKED, EVEN IF IT IS MARKED ON THE EXAM. You may use the space near the
rk, but scratch work will not be read.

of air pollution particles in the air of a urban area has the following probability density

fo)=1, . 0<y<l1

proportion in four independent urban areas, each of them with the density function given
ing function of W =Y + Yo + Y3 + Y4 is

‘water dispensed by a certain machine has a normal distribution with z = 30
ounces. What container size will ensure that overflow occurs only 0.01 pessest
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buted. What is the probability that the score
value.
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i i in bulk. The amount of
sugar refinery has three processing plants, all of which receive faw sugar ir .
QMt can process in one day can be modeled as having an exponential distribution with expected value

for each of the three plants, ‘
e plants operate independently, find the probability that exactly two of the three plants will process

P =0.5506 1
-2 X

i exp(n=0.2) (|-f)=01013 ¢2

g
s
-0.2 X =

e =G an P =0.089 85
A=0,2 £ Plﬂﬁ'kﬁg S

years. If a survey of 400 randomly selected
find the approximate probability that more than 300 of them will be under 31 years

=% n-t00 =2

£ = P (x = S00)
P (x <(0)

a cold in a give year is a Poisson random variable with
quantitites of vitamin C) has just been marketed
on (that is, the drug is beneficial for that 75% of

; other 25 percent of the Population the drug
lual tries the drug for a year and has 2 colds
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e (in seconds) that Alice waits for a traffic light to turn green, and let ¥ be the time in
lion) that Bob waits for a traffic light to turn green. Suppose that X is exponential with
‘exponential with expected value 1/5. The two random variables are independent. What
aits less than 2 seconds and Bob waits more than 1 second.

Yme%p(% 5) e’ /

- 4.02:“ 7{’24 (i- pel)) © qW)(

#"H -
f(x) = 1.25 - 0.25x, 2<x<4

€ resistor, the resulting power ( in microwatts) is given by the expression




J. Sanchez
Stat 100A -Intro Probabili il
o " 3. e UCLA Department of Statistics

¢

1

the volumes of soda remaining in 100 cans of soda that are nearly empty. Let Xi, ....., X100
: (in ounces) of cans one through one hundred, respectively. Suppose that the volumes X; are
and that each X; is uniformly distributed between 0 and 2. What is the expected total amount of soda

)
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Al
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ferent countries, A, B, and C, have seen their values decrease as a consequence
are in different countries, it is reasonable to assume that the values lost in these
) are independent. The moment generating functions for the distribution of the

(2

M@ =(1-207 M) =(1-203
0
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be dropped along a 1-mile-long line that stretches across a practice target zone The
* midpoint of the line. The target will be destroyed if the bomb falls within - 35 mile on
mﬂlnpmbablhty that the target will be destroyed, given that the bomb falls at arandom

by /(Q/
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() Fx)=1/2, 0<x<1
(d) F(x)=15x(1-x%/3), 0<x<l
(e) F(x) =df(x)/dx

NOW THAT YOU ARE DONE, MAKE SURE YOU:

(a) Have marked your name and ID in the scantron and indicated
color of your exam.

(b) Havewﬁuenyourmmeandidutheﬂrstmofthisenmand
have signed with your

“n,ug U 1r -




Standard Normal Cumulative Probability Table

Cumulative probabilities for NEGATIVE z-values are shown in the following table:

z 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09
-3.4 0.0003 0.0003 0.0003 0.0003 0.0003 0.0003 0.0003 0.0003 0.0003 0.0002
3.3 0.0005 0.0005 0.0005 0.0004 0.0004 0.0004 0.0004 0.0004 0.0004 0.0003
-3.2 0.0007 0.0007 0.0006 0.0006 0.0006 0.0006 0.0006 0.0005 0.0005 0.0005
-3.1 0.0010 0.0009 0.0009 0.0009 0.0008 0.0008 0.0008 0.0008 0.0007 0.0007
-3.0 0.0013 0.0013 0.0013 0.0012 0.0012 0.0011 0.0011 0.0011 0.0010 0.0010
-2.9 0.0019 0.0018 0.0018 0.0017 0.0016 0.0016 0.0015 0.0015 0.0014 0.0014
-2.8 0.0026 0.0025 0.0024 0.0023 0.0023 0.0022 0.0021 0.0021 0.0020 0.0019
-2.7 0.0035 0.0034 0.0033 0.0032 0.0031 0.0030 0.0029 0.0028 0.0027 0.0026
-2.6 0.0047 0.0045 0.0044 0.0043 0.0041 0.0040 0.0039 0.0038 0.0037 0.0036
-2.5 0.0062 0.0060 0.0059 0.0057 0.0055 0.0054 0.0052 0.0051 0.0049 0.0048
-2.4 0.0082 0.0080 0.0078 0.0075 0.0073 0.0071 0.0069 0.0068 0.0066 0.0064
2.3 0.0107 00104 0.0102 0.0099 0.0096 0.0094 0.0091 0.0089 0.0087  0.0084
2.3 0.0139 00136  0.0132 0.0129 00125 0.0122 0.0119 0.0116 0.0113  0.0110
241 0.0179 0.0174 0.0170 0.0166 0.0162 0.0158 0.0154 0.0150 0.0146  0.0143
2.0 0.0228 0.0222 00217 00212 0.0207 00202 0.0197 00192 00188 0.0183
1.9 0.0287 0.0281 0.0274 0.0268 0.0262 00256 0.0250 0.0244 0.0239  0.0233
1.8 0.0359 0.0351 0.0344 00336 0.0329 0.0322 0.0314 0.0307 0.0301 00294
A7 0.0446 0.0436 00427 0.0418 0.0409 0.0401 0.0392 0.0384 00375 00367
16 0.0548 0.0537 0.0526 0.0516 0.0505 0.0495 0.0485 0.0475 0.0465  0.0455
15 0.0668 0.0655 0.0643 0.0630 0.0618 0.0606 00594 0.0582 0.0571  0.0559
1.4 0.0808 0.0793 0.0778 0.0764 0.0749 0.0735 0.0721 0.0708 0.0694  0.0681
1.3 0.0968  0.0951 0.0934 0.0918 0.0901 00885 0.0869 0.0853 0.0838 00823
4.2 01151  0.4131  0.1112 0.1093 01075 01056 0.1038 0.1020 01003  0.0985
a4 01357  0.1335 0.1314 01292 01271 0.1251 0.1230 0.1210 0.1190 01170
1.0 0.1587  0.1562 0.1539  0.1515 01492 0.1469 0.1446 0.1423 01401 01379
0.9 0.1841  0.1814 01788  0.1762 0.1736  0.1711 .1685
-0.8 02119 02090 0.2061 02033 02005 0.1977 g.}g:: - '~ g:ggi
07 | 02420 02389 02358 02327 02296 02266 0. 0.2177
0.6 02743 02709 02676 02643 02611 02578
0.5 03085  0.3050 0.3015 02981 02946 0.2912
-0.4 03446  0.3409  0.3372  0.3336 .330 3264
-0.3 03821 0.3783  0.3745 0.3707 3.3333 !3.§§§;
02 | 04207 04168 04129 04090 04052 04013
041 14602 04562  0.4522  0.4483  0.444 0.4404
- 0.0 0.5000 0.4960 0.4880

0.4920

TR _ R




Cumulative Probability Table

mm z-values are shown in the follo

wing table:

0.03 0.04 0.05 gos _ oor o868 LSRN

0.508 05120 05160 05199  0.5239 05279 0.5319  0.5359
05478 05517 05557  0.5596 0.5636 0.5675  0.5714 0.5753
05871 05910 05948 05987  0.6026 0.6064 06103 0.6141
06255 06293 06331 06368  0.6408 0.6443 06480 06517
06628 06664 06700 06736 06772 0.6808 0.6844  0.6879
06985 07019 07054 07088 07123  0.7157 07190 07224
0.7324 07357 07389 07422 07454 07486  0.7517 0.7549
07642 07673 07704 07734 07764 07794  0.7823 0.7852
07939 0.7967 0.7995 0.8023  0.8051 0.8078 0.8106 0.8133
 0.8212 08238 08264 0.8289 08315 0.8340 08365 0.8389
0.8461 0.8485 0.8508  0.8531 0.8554 0.8577 0.8599  0.8621
0.8686 0.8708 0.8729 08749 08770 0.8790 0.8810  0.8830
0.8007 0.8925 0.8944 0.8962 0.8980 0.8997  0.8015
0.9082 0.9099 09115  0.9131 0.9147 0.9162  0.9177

009236 09251 09265 09279 0.9292 09306  0.9319

09370 09382 09394 09406 0.9418  0.9429  0.9441

09484 09495 009505 0.9515 09525 0.9535 09545

09582 0.9591 09599 09608 0.9616 0.9625  0.9633

. 09664 09671 09678 09686 0.9693 0.9699  0.9706
09732 09738 09744 09750 0.9756  0.9761 0.9767

09788 09793 09798 09803 09808 0.9812  0.9817

09838 09842 09846 09850 0.9854  0.9857

09875 09878 09881 09884  0.9887  0.9890

0.9904 09906 0.9909 0.9911 09913  0.9916

09927 09929 09931 09932 0.9934  0.9936

09946 09948 0.9949  0.9951 0.9952

09960 09961 0.9962 0.9963  0.9964

09970 09971 0.9972 0.9973  0.9974

09978 09979 09979 0.9980  0.9981

09984 09985 0.9985 0.9986  0.9986

0.9989 0.9990  0.99%0

9992 0.9993  (0.9993

S 0.9995 09995

0.9996  0.9997

0.9997 0.99%8




TABLE7.1: DISCRETE PROBABILITY DISTRIBUTION .
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